Alphathereum

ATH Token Launch White Paper

September 2017

V 1.0

Alphathereum Overview

Alphathereum is a crypto-currency mining company which operates in United Arab Emirates with future expansions in the Middle East.

We currently concentrate on mining Ethereum, which is currently the second largest crypto-currency (+\$20 Billion market cap) and has potential for much more growth in the upcoming years.

Mining for each individual can become non-profitable therefore we offer shares in our mine and monthly Ethereum dividends to all shareholders

Our aim is to provide investor with a simple low cost solution to enter into the crypto mining industry

Road Map



Facility Specification

Our mining warehouse is located in Dubai, UAE. The current mine is 5000sqft, which provides Alphathereum with enough room for future expansion to have 4000 GPU's by the end of 2018

Alphathereum ICO Timeline

Available at: www.alphathereum.com

ICO = 1st (00:00 am CET) of October - 31st (23:59 pm CET) of October [ICO End]

Type of Offer: Initial Coin Offering

Purchase: 1 ATH TOKEN = US\$1.00

Tokens Available: 9,999,999

Minimum Purchase Per Person: 1 Token

Maximum Purchase Per Person: 5,000,000 Tokens

Bonus ATH Available:

 $20\% = 1^{st} - 15^{th} \text{ of Oct}$

 $15\% = 16^{th} - 21^{st} \text{ of Oct}$

 $10\% = 22^{nd} - 27^{th} \text{ of Oct}$

 $5\% = 28^{th} - 31^{st} \text{ of Oct}$

Based on the number of tokens purchased

Accepted Cryptocurrencies: ETH,BTC

Dilution: Token holders will not have their ownership and commissions diluted. No future tokens that have earnings from the mine will be issued.

Investor Portal

Our blockchain portal will provide investors with Alphathereum financial performance and the opportunity to sell their shares on listed exchanges as well as transfer dividends earned to other wallets on the blockchain network automatically.

ETH dividends earned To your registered
ETH wallet

The portal will also feature a live stream of the mining facility

Mining Tech

A crypto currency miner provides computing capacity to solve mathematical problems. As a reward, the miner receives an amount for each block mined.

GPU Mining

AMD is considered the leader in the GPU mining market due to the high hashrate per watt of its RX 4xx and 5xx chips.

Moreover, AMD has released new drivers that boost mining performance of RX chips.

We have already reached out to a number of distributors to guarantee our first supply of GPU's at a competitive rate:

GPU	Average MH/s	Power Cons. (W)	MHs / W
EVGA GTX 1080 TI	32.3	250	0.1292
EVGA GTX 1080	22.5	175	0.128571429
EVGA GTX 1070	30.2	110	0.274545455
EVGA GTX 1060	21.3	98	0.217346939
MSI R9 FURY	29.6	170	0.174117647
MSI R9 390X	31.1	150	0.207333333
Sapphire Nitro RX 580	27.3	104	0.2625
Sapphire Nitro RX 570	23.2	98	0.236734694

Monitoring and Maintenance

Monitoring software will constantly monitor the status of the miners and thus we can instantly react if a miner stops working. Our facility will be monitored on a daily basis.

Equipment Exchange

In order to keep the facility at the highest level of profitability we will update the hardware on a regular basis; however, this will only be done where the ROI of new hardware is greater.

About us

Founder - Mohamed Gani

Mohamed has 4 years of experience working with blockchain technology and cryptocurrencies as well as 5 years of experience in developing software for REIT and financial investment institutions.

Alphathereum Advisors

- +10 years' experience in Systems Architecture working for IBM
- 7 years' experience in Project management working for Dell

Legal Disclaimer

This White Paper explains the Alphathereum Project and informs potential token holders about the offered Token Sale. The facts in this paper may not be complete and do not indicate any aspects of a contractual relationship. The sole intention of this paper is to supply appropriate and reasonable information in order for potential token holders to decide whether to engage in a detailed examination of the project with the intent to buy ATH Tokens.

This White Paper does not form a prospectus in any way or a request for investment. It does not in any form comprise a solicitation or a proposal of an offer to buy any securities in any judicial system. This paper is not drafted in consensus with, and is not subject to, regulations of any judicial system or laws which are created to protect investors.

This White Paper contains certain estimates, propositions and monetary information that motivate anticipatory information or propositions. Such anticipatory information or propositions may contain acquainted and unacquainted uncertainties and risks which can result in actual events that vary substantially from the estimates forecasted.

There can be no assurance that Alphathereum investment objective will be achieved and investment results may vary substantially over time. Investment in Alphathereum is not intended to be a complete investment program for any investor. Prospective participants should carefully consider whether an investment is suitable for them in the light of their circumstances and financial resources.

Prospective participants should inform themselves as to the legal requirements within the countries of their nationality, residence, ordinary residence or domicile for such acquisition, any foreign exchange restrictions or exchange control requirements which they might encounter on acquisition or disposal of Alphathereum Tokens, and the income tax and other taxation consequences which might be relevant to the acquisition, holding or disposal of Alphathereum Tokens.

IF THE PROSPECTIVE PARTICIPANT IS IN ANY DOUBT ABOUT THE CONTENTS OF THIS DOCUMENT, THEY SHOULD CONSULT WITH THEIR ACCOUNTANT, LEGAL ADVISER OR OTHER PROFESSIONAL ADVISER BEFORE INVESTING.